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101.4 x 109 = 1x 100D =
490.6 x 1002 = 434.8 x 102 =
820.1 = 100 = 5% 10 =
1072 = 885.5 x 1002 =
717.1+10° = % 1008 =
330.1 x 10* = 1002 =
1077 = 1004 =
1072 = 100D =
109 = 7% 10° =
107 = 5% 1002 =
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101.4 x 10°% = 0.01014 110" =0.1

490.6 x 107 = 4.906 434.8 x 107 = 43480
820.1 + 107 = 8201000 5% 10 = 50

1072 = 0.01 885.5 x 100 = 8.855
717.1 + 10° = 7.171 —2x 107 = —0.0002
330.1 x 10> = 33010 107% = 0.01

107 = 0.001 107 = 0.0001

1072 = 0.01 1077 = 0.1

107% = 0.0001 7x10° =7

107 = 0.001 5% 1072 =0.05
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